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1)
2)
3)
4)

1)
2)
3)
4)

1)
2)
3)
4)

1)

41.0n what basis is the global economy and international trade of goods and services

carried out?

1)The value of a certain currency
Currency value of the exporting country
Currency value of the importing country

Supply and demand

42.According to Kopen's Climate Zone Classification Model, Which Item is not Among

the Characteristic of Cold Climate?

The average coldest month is less than -3°C.
Unsuitable for plant growth.
It is suitable for temperate coniferous forests.

Summer rainfall is more than winter.

43.Which element is the most in the earth's atmosphere? How much percentage of

earth atmosphere is consisted of this element?

Oxygen, 21 percent
Nitrogen, 21 percent
Nitrogen, 78 percent

Oxygen, 78 percent

44.Using which source to produce electrical energy increases our environmental

footprint?

Green fuels 2) Solar 3) Geothermal 4)Fossil fuels
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1)
2)
3)
4)

1)
2)
3)
4)

1)
2)

3)

4)

45.What was the most important policy of the Mexican government in controlling air

pollution in Mexico City?

Reducing the use of private cars
Improving the quality of cars
Expansion of the public transportation system

Improving the quality of Petrol

46.Which of the world's continents has the most extensive railway network?

Asia
Europe
Oceania

North America

47.The image below shows what type of boundary line; What is its advantage?

Median line- The distance from the border is equal on both sides of the river

Thalweg line - Both countries have the shipping right to navigate on both sides of the
river.

Median line - Both countries have the shipping right to navigate on both sides of the
river.

Thalweg line - The distance from the border is equal on both sides of the river.

) az pdo oS =V 1V daxdo



48.Which expression contradicts the concept of hi-tech industries ?

1) Itis mainly based on advanced technology.
2) Itis among economic activities of the first type.
3) They are mainly dealing with microelectronics and microprocessors.

4) They are forced to communicate with today's technologies.

49.Which sentence is correct?
1) Asthe slope increases, the speed of the river flow increases

2) In the steep slopes, the river flow decreases.

3) Inrivers with round basins, the flow speed decreases.

4) In soils with high permeability, the speed of the river flow increases.

50.State the solar time at location D if the solar time at location Cis 6:am
1) 1)4:a.m. 2)8:a.m. 3)5:a.m. 4)7:a.m.

North
Pole

Sourth
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